
 

 

Corrections 

Basic Current Procedural Terminology (CPT) and HCPCS Coding Exercises, Fourth Edition 

AHIMA Product # AC210615 

Chapter 1, exercise 1.1, question 9 

9. Which of the following CPT codes would not pass the age edits for a 2-year-old child? 

a. 42820 Tonsillectomy and adenoidectomy; younger than age 12 

*b. 43621 Gastrectomy; total; with Roux-en-Y reconstruction 

c. 49560 Repair initial incisional or ventral hernia; reducible 

d. 69436 Tympanostomy (requiring insertion of ventilating tube), general anesthesia 

Correct answer is B 

 

Chapter 4, exercise 4.19, question 5 

Index entry should read: Pharynx, Suture, Wound 

 

Chapter 4, exercise 4.27, question 3 

Code should read: 54505-50 Biopsy of testis, incisional (separate procedure) 

The note under code 54505 directs coders to assign modifier 50 if the procedure is bilateral. 


